al-m

Vertical Division with a Helper Grid Name:
Solve each problem. Answers
1) 2) 3)
9(7560 8418733 3(103 L
2,
3
4.
5.
6.
4) 5) 6)
753975 812511 55318 !
8.
e}
10.
11.
12.
7) 8) 9
113014 5[45 45741
10) 11) 12)
76684 216762 81899
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Vertica Division with a Helper Grid Name: Answer Key
Solve each problem. Answers
1) 840 2) 103r81 3) 34r1
97560 84[8733 3[103 1. 840
0 0 0 ,  103r81
75 87 10
72 84 9 s 34rl
36 33 13
36 0 12 ——
08 2:2 L . 31317
0 81 6. 5r43
4) 53 5) 313r7 6) 5r43
75/3975 82511 55(318 —T
0 0 0 s 9
39 25 31
0 24 0 o 1435r1
397 11 318
375 8 275 10 9
225 31 43 . 3381
225 24
0 7 1 112r3
7) 274 8) 9 9 14351
113014 5(45 45741
0 0 4
30 45 17
22 45 16
81 0 14
77 12
44 21
44 20
0 1
10) 9 11) 3381 12) 11213

76684

216762

6

8[899

o~

0
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E:# Vertical Division with a Helper Grid

Name:
Solve each problem. Answers
143511 53 5143
840 31317 3411 L
103181 274 9 ,
1) 2) 3)
97560 84/8733 3103 3
4,
5.
6.
7.
8.
4) 5) 6)
75/3975 8[2511 55(318 >
7) 8) 9)
113014 5[45 45741
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